
9 x 7 = .

5 x 4 = .

6 x 6 = .

4 x 12 = .

11 x 2 = .

6 x 12 = .

77 ÷ 7 =           .

32 ÷ 4  =           .

12 ÷ 3 = .

Year 5 Homework B – 10th May 2024

Reasoning

Multiplication

10 x 3 = .

12 x 9 = .

7 x 8 = .

11 x 11 = .

678 x 1 = .

142 x 0 = .

90 ÷ 9 =           .

324 ÷ 1 =           .

104 ÷ 104 =           .

Equivalent Fractions and Decimals 

Remember to also have a go at TTRS, 
Spelling Shed and Lexia (if you have it)! All 
links are on the class page.

Forgotten your login? Let me know!
There are three points plotted on the coordinate 
grid below. 

Can you match each clue to the correct point on the 
coordinate grid and write the coordinates?

Clue 1: The y-coordinate is half of the x-coordinate.

Clue 2: The y-coordinate is less than the x-
coordinate, 

Clue 3: Both the y-coordinate and x-coordinate are 
a square number. 

Is she correct? Explain your answer.Time

Do you agree? Explain your answer.

These clocks 
could be showing 
times 25 minutes 

apart.


	Slide 1

